ded form of a number can be obtained by breaking it and using the
place value of digits in the number.

Example 1: Write the expandeq
form of number 48,

Example 2 : Write the expanded
form of number 90.

4 8
? L—80nes(8x1=8) [ l—Oones(0><1=0)
4 tens (4 x 10 = 40) 9tens (9 x 10 = 90)
Expanded form of numper Expanded form of number
90 =90 + 0.

48=140+ 8.

- Cercise o

/rite the numbers gjven below in expanded form :

1. 25 = 2_0+5 13. 59 =[S0

25 32 =X 14. 97 - [N
S0+ 4

9139 = NEEEEN F R 15, 16 1

4, 66 = SEEmEH 0 1680 - [EEEEEE

e 79 - RS 17.74 = B
2 - R 18. 24 - T EEEESSE
98 - [ 19. 78 = B S
56 = SEEEEE ., 20..86 = (EEEENEET T
67 =SSR 21. 90 = = FUEER
19 - . 22. 72 - [ EEEE
78, = SRR X 23,36 = G
0, = R I 24, 59 4 S Rl O




m 0-9 accordmg
*Nuinbei's in compact v :
o QOmpact form of a number i r
heir place value.
~ Example 1: Write 80 +71n
compact form.

" Compact form of 80 + 7 =87 e
B = g _m,g,m-::“““““‘"’ "“\
Write in compact form Hi7 208+ 2 = 3 QS
1. 20 + 6 - (NS g. 10+ 7 =
oS 18.60 + 6 = GHN
2. 30 + 6 = (SN0 10.60 + 2 = (&
19.50 + 7 = SOA
3. 60 + 8 = Sl 1= 80+ € =
7 .60 + 9 = i
4 30 + s - 12,50 + 2 = & i
520+ 3 - B s ME 21.40 + 4 = Bl
B0 7 = 14.60 + 4 = o Sl S
7050+ 0 = 15000+ 8 = 232200 & 7 =
8. 00+2=_¢gl 16.00 + 1 = 24.30 + 9 =




